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INSTRUCTIONS

Answer all questions.

All guestions carry equal marks.

Only one answer is to be given for cach question.

If more than one answers arc marked, il would

be treated as wrong answer.

Each question has four altcrnalive responses

marked senally as 1, 2, 3, 4. You have to darken

the correct answer.

There will be no negative marking for wrong

ANSWET.

The candidate should ensure that Reoll Number,

Subject Code and Series Code on the Question

Paper Booklet and Answer Sheet must be samc

after opening the cnvelopes. In case they arc

different, a candidatec must obiain another

Question Paper of thc same series. Candidate

himsell shall be responsible for ensuring this.

Mobile Phone or any other clectronic gadget in

the examination hall is strictly prohibited. A

candidate found with any ol such objeclionable

material with him/her will be strictly dealt as per
rules.

The candidate will be allowed to carry the carbon

print-out of OMR Response Sheet with them on

conciusion of the cxamination.

If there is any sort of ambiguity/mistake cither

of printing or factual nature then out of Hindi

and English Version of the question, the English

Version will be freated as standard.

Warning @ If a candidate is found copying or if
any unauthorised material is found in
his’her possession, F.1R. would be
lodged against him/her in the Police
Station and he/she would liable to be
prosecuted under Section 3 of the
R.PE. (Prevention of Unfairmeans)
Act, 1992, Commission may also
debar him/her permanently from all
fulure  examinations of the
Commission.
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1 Which of the following planets have nearly similar radius ?

(1) Earth and Mars (2) Earth and Venus

(3) Mars a.nd Venus @) Venus and Mercury

P 4 ¥ B wEl ¥ oidama @ @ ¥ 7

(1) 9= o A (@) T o gw

(3) e R g (@) gE ST gy

2 The Nebular Hypothesis was proposed by ;
(1) Allan Sandage (2) Buffen
(3) Kant and Laplace together (4) Kant and Laplace independently

et uiwear e EIRENEC R
(1) @ 9 ) THEA
(3) » ok WA Y o) FF i Wue™ W o T 9

3 The difference between the equatorial and polar diameters of the earth
is .

(1) 21 km (2) 43 km
(3} 56 km (4) 18 km
gl % smeid @ ydw wmE ¥ R e 37
(1) 21 fit @ 43 fel
(3) 56 T @) 18 fei
4 The Gutenberg discontinuity is located at a depth of around  below
the surface of the Earth.
(1) 35 km (2) 1100 km
(3) 2900 km (4) 5000 km
A ordiaw Yt ) waw ¥ w9 fug B
(1) 35 Tl (2) 1100 T
(3) 2900 ferdl. @) 5000 el
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5 How many Era are considered in the Geological Time scale ?

1 6 @ 4
@) 3 @ 8
wienfe W At ¥ e e A sy ¥ 7
(1 = (2) =X

@ = 4) &

6 What is the generally accepted age of the Earth ?

(1) 5500 MY (2) 4000 MY

(3) 4600 MY (4) 3500 MY

el ® WEE: O @ ARl ST B 7

(1) 5500 v ad (2) 4000 e a9

(3) 4600 fwaw ad (4) 3500 fiferas =nd
7 Isotopes have ~~ in their nucleus.

(1) same number of protons
(2) same number of neutrons
(3) different number of protons

(4) different number of protons and neutrons
TR & Iifw &F=) § T} ¥
(1) M @@ % WM

(2) wuF H@& ¥ gge

(3) = @& & WeM

@ = den & WeRw i e

8 Most faults in the Himalayan region are which of the following type ?

(1) Strike-slip : (Z) Reverse

(3) Normal (4) Transform

ferg &= o aiftman vy Frefieg ¥ ¥ o9 ver & § 7
(1) Afoe= wdor g9 (2) SwpH W9l

(3) "WEHF H91 (4) T HT 990
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The oceans and continents are in broad isostatic equilibrium with each other

=]

mainly due to

(1) lateral increase in the mean density of the crust
(2) lateral variation of density within mantle

(3) variation in the thickness of the low density crust
(4)  combination of (1), (2) and 3)

W@%@ﬁﬁﬁ%ﬁwwﬁw&mwg@ﬁ W awE
q wrEn ¥ - :

(1)Awqﬁ%eﬂwaﬁazﬁrmfﬁmm
(2) "=d ¥ e W uidw 9

3) Fr o wd @) e § 4
(4) wulEd ®WY w1 Ty

10 Life originated probably from combination of substances like :
(1) Methane, Ammonia, Water vapour and Hydrogen
(2) Methane, Ammonia and Oxygen
(3) Ammonia, Water vapour and Carbon dioxide
(4) Methane, Ammonia and co,

Gﬁﬂ?ﬁmﬁrﬁwsﬁwﬁ%mﬁwﬁg:
(1) T, emifrn, ool ot ofi esiom
@ B, e, e st

(3) mﬁm,'m&ﬂuqﬁamméﬂasenm
(4) ®am, srifrr ok wEw sremeEs

1t Barrel - shaped crystals are formed by :

(1) Siderite (2) Calcite
(3) Corundum (4) Hornblende
T oGtk Breem  wmr

(1) Tz () waE
(3) wRw=w 4) ==
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12 Which amongst the following has the highest specific gravity ?

(1) Barite (2) Galena
(3) Gypsum (4) Rutile
Frafofaa & @ frew omifds o wwg wuwer ¥ °
() e @ e
(3) foroem - @) wERA
13 The Moh's scale of hardness is a/an of measurement,
(1) Arnthmetic scale (2) Geometric scale
(3) Logarithmic scale (4) Arbitrary scale
FHOAT A H WE B THAMT b &1
(1) siwbri e (2) Yamiteim TaE
(3) TSR T @) wWemrd YHET
14  Which of the following is considered the most dominant rock in the
Mantle ?
(1} Dunite (2) Eclogite
(3) Pyrolite (4) Gabbro
ﬁwﬁéaﬁﬂ@rmmﬂm@aﬁ)ﬁwj@m%www
e ¥ ? |
ONEve - @) iz
(3) uERETEe (4) =i

15 Chemical composition of Aragonite is

(1) CaCO;, (2) FeCO,
(3) BaCO; 4 SrCo,
FCTMEET B TWHH G ?l

(1) CaCO, (2) FeCO,

(3) BaCO, 4)  SrCO,

205/ EARSCL_A] 3 G FConed...
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16 The term Denudation means : .
(1)  Weathering )
(3) Chemical disintegration ey,
oI a wAme %
1y oSty 2)
() Wt fue _ (4)

Erosion

Weathering and Frosion

AT
IUET 3X SuRET

17 Which of the following rivers does not. form a delta ?

(1) Krishna @
(3) Godawari | “)

Narmada

Mahanadi

Frafefes & & o9 @ & Teer o @ & 2
(1) gwm @
(3) e @) TErEe

18  The height of the Mt. Everest is
(1) 8848 m ()
(3) 8884 m @

above mean sea level.
8484 m
8448 m

ST WA W S AMe eHg | @ Bl

(1) 8848 . ()
(3) 8884 AL (4)

8484 i,
8448 #.

19 Which of the following has the lowest value of specific heat ?

(1) TInner core (2) Outer core
(3) Lower mantle (4) Upper mantle
Frafafes & & fea¥ Jmm fofne oo & & 7
(1) ok ®is (2) I B

(3) =1 wEmw 4) ST TER
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20 Which of the following is an active volcano in the Indian territory ?

(1) Panjal Traps (2) Malani Volcanics

(3) Ladhakh Batholith (4) Barren Island

frg ¥ @ @ W wd yam ¥ Reua afen sl ¥ 7
(1) vt I (@ wER AR

(3) wEra Heifwy 4) T 2™

21 Which of the following sets of geological features is. mis-match ?
(1) Mariana Trench - Atlantic ocean
(2) Bermuda Triangle - Atlantic ocean
(3) Ninety East Ridge - Indian ocean
(4) Carlsberg Ridge - Indian ocean
frfiied s—3Jenfes dcamrel ¥ ¥ & @ we g 8 ¥ 7
(1) = gm (@E) — Ewifed TEEr |
@ g T (B - uediied HEEr
@ 7= @ = (Few) - = weErr
@ wdat o (@ew) — = qewmrr

22 Which of the following is the correct order of arrival of seismic waves

at a recording station ?

(1) P waves - S waves - L. waves

(2) L waves - P waves - S waves

(3) P waves - L waves - S waves
|

(4) S waves - P waves - L waves

frer § ¥ e a1 @R T % PR A b WX EEH 6 Wl
HH W Qo & °

(D) ﬁraﬁ—waﬁ—waﬁﬂ

(2) TwE aCT - 9 T - @ G\
3) o ICT - wH T - T A
@ uwg @t — @ @@ - g@ a
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23

24

25

26

Which of the following is a generally used scale to measure magnitude
of seismic waves ? '

(1) Richter scale (2) Rorsi-Forel scale
(3) Mercalli scale (4 Beufort scale

Frefafad & & @ W Yurn sl qo ¥ wRem @ T % R
& o famr sar & O?

(1) T 9 ) Th-wrE ImeEn
(3) AN YuE (4) =gwe

The behaviour of perfectly elastic body is governed by :

(1) Hooke's Law (2) Hilt's Law
(3) Lambert's Law (4) Bode's Law
gucd o¥g B WasR ¥ yuwn/ Praafag ¥
() g7w Fem 2) feweg  Frm
(3) ety Fram (4) Ry frem

In geology compressive stress is considered to be

(1) Negative (2) Positive -

(3) Either positive or negative (4) Neither positive nor negative
I ¥ dfeT whmw @ [ owEn s $)

(1) =HoTHE (2) gITH®

(3)&#@35&%%%% 4) 9 @ gew AT A wonEs

The measurement of fold profile is taken in the direction

(1) Parallel to fold axis (2) 45° to fold axis

(3) Perpendiculér to fold axis (4) 60° to fold axis
qoq qiedEsT % AW from ¥ R oW ¥

(1) <@ #&F F IHETR (2) T S ¥ 45° u
(3) TW9 A &H wWEEd 4) 9@9 o™ ¥ 60° WY
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29

30

Mid Oceanic - Ridge system is an area of

(1) Shear plate boundary (2) Consuming plate boundary
(3) Accreting plate boundary (4) Stable plate boundary

o T FeE T ¥ o= ¥

(1)  SaeYe T HE (2) SuEr we de

(3) afgfs =@ < T @) Rery & G

Bed forms with crest trending roughly parallel to the sediment transport
direction are called -

(1) Linear dunes (2) Longitudinal dunes

(3) Seif dunes (4) Parabolic dunes
@Wq\—wﬁiﬂﬁw%@rwwﬁaﬁﬁw%wﬁ
%, ®eaR & |

(1) Ydm = @) egiel fe

@) % fes (4) wEwtaE fes

According to Geomagnetic Time Scale, the present epoch i3 known as

(1) Holocene / Reversed epoch(2) Holocene / Normal epoch
(3) Pleistocene / Reversed epoch (4) Pleistocene / Normal epoch

EWWW%WW@T%I
() e [ fuls g (2) TREE [ gEE g
() ergres [ faada g (4)  SEEa [ a3

Average geothermal gradient within the crust is generally accepted as :
(1) 25°C/km (2) 34°C/km

(3) 12°C/km 4 77°C/km
ﬁqﬁﬁﬁ—aﬁmwﬁmm%:

(1) 25°C/km (2) 34°C/km

3 12°kam 4y 77°C/km

205/ EARSCL_Al ) IR (Conta-
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According to steady - state hypothesis "Residence time" of an element in

years is given by ...........

M

Total amount of that element in solution in ocean divided by the

amount introduced by the rivers per year.

(2) Amount of that element introduced by the rivers per year divided
by the total amount of that element in solution in oceans.

(3 Total amount of that element in solution in ocean plus the amount
introduced by the rivers per year,

(4)  Total amount of that element in solution in ocean minus the amount
introduced by the rivers per year.

w—asnﬁm%wwwm“ﬁﬁm”aﬁﬁ ...........

Bk

(1) wm#@%ﬁ@wwwmﬁwﬁ%
AR g ' oad W sy 3

2) wmﬁ_wﬁﬁaaﬁﬁmaaﬁmﬁwﬁ%wwm
Er%‘r T | ¥ wEet )

(3) waaa%agﬁhaﬁaﬁw@wwwmiﬁwﬁﬁs
@ ER A ad Wi Wy 2

4) wwﬁa@u%ﬁ@wmwmaﬁwsﬁﬁs

Weather is a phenomenon of

(1
)

e

(1
3)

#&a’rms‘{aﬁﬁﬁw‘%l

Mesosphere (2)  Thermosphere
Troposphere (4) Stratosphere
¥ ulw / eReier @

ARBE T 2) gHERET
IR @) wRRHRY
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34

35

36

Which of the following rocks will be the most resistant to weathering and
erosion 7 -

(1} Andesite (2) Quartzite

{3) Limestone {(4) Gabbro

Friefad § | &9 @ 92T amE T oiaT & Y wed afre wRRAd
s 7 |

(1) d3erEe (2) warsEe

(3) T TR (4)

Ozone layer shields life on earth by absorbing hazardous radiations in the
range of

(1) 250-320 nm (2)  130-200 nm

() 100-150 nm (4) 300-370 nm

CIEIE | % O fakeer B sEsiite B gl o) Siew
D @ B &

(1) 250-320 nm (2) 130-200 nm

(3) 100-150 nm ~ (4 300-370 nm

The highest pressure in the earth's crust is found at

(1) Mid-oceanic ridges (2) QOceanic rise

(3) Oceanic trenches (4) Island arcs _
et B TN W ey o @ T IR ST §)
(1) 99 TSNP ®eEh @) =EErTRE HaRdl -

(3) wEETE @Rl (4) fawm =g

The composition of sea water is given in terms of

(1) Salinity (2) Chlorinity

(3)  Salinity plus chlorinity (4) Salinity minus chlorinity
Y8 % TME @ WXEEl BRI & Sy ¥

(1) wgvrdn (2) i

(3) WAl 99 T (4) EOET HO FE
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3%

The composition of atmosphere at ground level is in order of

(1) N, > 0, > Ar > CO,

(2) 0, > N, > Ar > CO,

(3) N, >0, >C0O, > Ar

(4 CO, >N, >0, > CO,
Eﬁmwa@maﬁwﬁaﬁwﬂ_ﬁwmﬁéﬁ%r
(1) N, > 0, > Ar > CO, S

(2) 02>N2>‘AI>C02

By Ny >0, > CO, > Ar

4 CO, >N, >0, > CO,

By 2012 all countries should reduce their green house gases emissions to
5% level by adopting appropriate methods was the mission of

(1)  Montreal Protocol (2) Earth Summit
(3) Kyoto Protocol (4) Peru Protocol

aﬁzolzwaﬂﬁ%mﬁﬁwmﬁ@m%mﬁﬁ%mﬁ
W 5% T BE T® @1 mew

(1) =rdae s (@) 9= wE

() wE dren 4) 6 wron

El-Nino Southern Oscillation (ENSO) is a climatic pattern that occurs in
over a period varying from three to seven years.

¢)] | Tropical Pacific Ocean (2) Tropical Atlantic Ocean
(3) Tropical Indian Ocean (4) Arctic Ocean

W—WWW(ENSO)WW%%?&% ¥
¥ uE AW F ere uT s ¥

(1) v iy gorg meEER
(2) w1 BT erEaes TEEER
(B) I g B meEmEe
(4) Siehless WErERT
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40 Thermohaline Circulation (THC) refers to the part of large scale ocean
circulation that is driven by gradient created by
(1) Temperature
(2) Salt content
(3) Combination of (1) and (2)
(4) Fresh water .
WW(W)@WE%WWWW‘%@T%
o d A g e % A ¥ e | e ¥ AR ¥
(1) w9
(2) WO Wl HE
G) () a (2) % b v
@ et 9
41 The earths terrestrial biomes and aquatic systems constitutes
(1) Biological community (2) Biosphere
(3) Biome (4) Genome _ .
E@%WWH&TWWWW_“_—W%I
Q) W= famm g (2) SHeTsH
@) wEm () e
42 The relationship between organism and environment is known as
) Phyéiology (2) Ecosystem
(3) Anthropology (4) Phytogeography
wfater w§ wa (organism) & R ® o HEd ¥
(1) % o faE @) wiRafme @
(3) el (4) WET SR
205/ EAR.SCL_A] 13 R iContd...
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43

44

45

46

The microscopic photosynthetic organisms that float on water surface are
called |

(1) Grinnel (2) Phytoplankton

(3) Niche (4) Fungi

geiel HeRTRET H A geeest g St B ol @ e W AW ¥,
HEA B

(1) Brew () URITEE

3) e @ e

The lowest ever temperature at the surface of the Earth has been recorded

at :
(1) Antarctic (2) Alaska
(3) Arctic (4) Sibena

‘g&ﬁaﬁﬂﬁ%ﬂmﬁiﬁﬂﬂﬂHdme%Jﬁmw%?
(1) skt (2) 3IATER
(3) ot (4) wEafaE

Energy is transferred from earth's surface and the atmosphere by

(1) Conduction (2) Convection

(3) Reflection and refraction  (4) All of the above

g W we U agEEd ¥ e w0 TwEE @ S ¥
(1) = | (2) | |

(3) TUEET T Sraere (4) STOE gl

 The term 'Ecosystem' was introduced by :

(1) Arthur Hailey (2) Arthur Tansley
(3) Arthur Folley (4) Arthur Holmes
miRefe 4 wE & TR R e ?

(1) emdx FW (2) andR T
(3) smeT W (4) ST B

205/ EAR.SCL_A 14 LR 1Contd...
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Biodiversity increases when we move from
(1) High to low attitude (2) From poles to equator
(3) From equator to poles (4) Both (1) and (2)

B AR FeT X Sa Rfauar sed ¥

() %3 & = & graysg (2) yal W el

(3) e ¥ g @ (D 7 (2) a
48  When fossil fuels are burnt, they produce
(1) Co, (2) Nitrogen
(3) Sulpbur - (4) All of the above
Seen oAl & sy 9 &1 e swlfa € 3
M co, @) TGS
(3) T (4) SuE 9
49 Water pollution caused by organic wastes is measured in terms of
(1) CM (2) BOD
(3) COD (4) DOD
FEFTE FI A B oA g F wemwr @ EARUIRE LV 15
() CM (2) BOD ' :
(3) COD (4) DOD
30 The maximum population that can be supported in a given space is called
as .
(1) Maximum carrying capacity
(2) Maximum population capacity
(3) Maximum people capacity
(4) None of the above
aifieped SEE &1 uwm S 3 we ¥ enmy R snowd o)
wed & :
(1) afteean awes s
(2) ot smEET v
(3) Yo ol @ e
) TR A A B €
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